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Difference multipletwise of eigen lagr vs. eigen reg, self weighted

 / ndf 2χ   8616 / 8542
p0        4.527±5.373 − 

Difference multipletwise of eigen lagr vs. eigen reg, self weighted
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Minirunwise difference of eigen lagr vs. eigen reg, self weighted

 / ndf 2χ  4.154e+04 / 8542
p0        2.019±6.857 − 

Minirunwise difference of eigen lagr vs. eigen reg, self weighted
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Difference multipletwise of eigen lagr vs. eigen reg, maindet weighted

 / ndf 2χ   8888 / 8542
p0        8.362±0.1938 − 

Difference multipletwise of eigen lagr vs. eigen reg, maindet weighted
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Minirunwise difference of eigen lagr vs. eigen reg, maindet weighted

 / ndf 2χ  1.233e+04 / 8542
p0          7.1±0.1938 − 

Minirunwise difference of eigen lagr vs. eigen reg, maindet weighted
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